S ElirTone: earth contact position 6h
earth contact position 6h 16A Pole 4
>Current: o 2 >voltage: a 138
16A i€ 380-415V~3P+E
>\oltage: a 125 =1P 67 watertight h 85
580~415V~3P+E dimension(mm) b 79
>1P 67 watertight @ 12
C 12 dimension(mm)
cable nominal 1-25 d 79
cross-section area(mm’) s
cable nominal
cross-section area(mm’) 1-2.5
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~Current: earth contact position 6h
}Lﬁﬁ Pole 4
oltage: a
380-415V~3P+E S
>1P 67 watertight c 81
d 7 AB0D4SO0V~
dimension(mm) e 16.5 4
f 475 4y
g 5.2 LU0/ 348+
240/415V-
cable nominal
1-2.5

cross-section area(mm?)
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